 EQ \b(x+2010)\b(x+2011)\b(x+2012)=24 
 EQ \b(x+2010)\b(x+2011)\b(x+2012)-24=0 
 EQ \b(x\s\up2(2)+2011x+2010x+4042110)\b(x+2012)-24=0 
 EQ \b(x\s\up2(2)+4021x+4042110)\b(x+2012)-24=0 
 EQ \b(x\s\up2(3)+2012x\s\up2(2)+4021x\s\up2(2)+8090252x+4042110x+8132725320)-24=0 
 EQ \b(x\s\up2(3)+6033x\s\up2(2)+12132362x+8132725320)-24=0 
 EQ x\s\up2(3)+6033x\s\up2(2)+12132362x+8132725320-24=0 
 EQ x\s\up2(3)+6033x\s\up2(2)+12132362x+8132725296=0 
Если уже учили формулы Кардано тогда решаем дальше:
Воспользуемся формулой Кардано.

 EQ x=\f(-6033+\r(3;324+39\r(69))+\r(3;324-39\r(69));3) 
Окончательный ответ:  EQ x=\f(-6033+\r(3;324+39\r(69))+\r(3;324-39\r(69));3) 
